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. Answer all questions,

2. All questions carry equal marks.

3. Only enc answer is to be given for each question.

4. If more than one answers are marked. it would be treated as
WIONg answer.

5. Each question has four alternative responses marked serially

as 1. 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using BLUE
BALL POINT PEN.

The OMR Answer Sheet is inside this Test Booklet, When
vou are directed to open the Test Booklet. take out the
Answer Sheet and fill in the particulars carefully with blue
ball point pen onlv.

I/3 part of the mark(s) of each question will he
deducted for cach wrong answer. A WIoNg answer means
an incorrect answer or more than one answers for any
question. Leaving all the relevant circles or bubbies of any
question blank will not be considered as Wrong answer.
Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found
with any of such objectionable material with him/her will be
strictly dealt as per rules.

Y. Please correetly fill your Roll Number in O.M.R. Sheet.
3 Marks can be deducted for filling wrong or incomplete Roll
Number.

1O, If there is any sort of ambiguity/mistake either of printing or

factual nature then out of Hindi and English Version of the

question, the English Version will be treated as standard.
Warning : If a candidate is found copying or if any unauthorized
material is found in his/her possession, F.I.R. would be ladged
against hinm/her in the Police Station and he/she would liable to be
prosecuted. Department may also debar him:her permanently
from all future examinations.
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it awl i fea @edt ITh A,
(1) 313

(2) ™

(3) <0

4) Tt o F R ad 2 )

39, AF1EE T SIERSNA & 1Y 298 K
¢ g TR % I SFERT: ~890.3 ki mol ™,
~393.5 kJ mol™! @& -285.8 kJ mol™
2 | CH,, i forer udiedt s &Rt 7

(1) 748 kI mol-' (2) +74.8KkJ mol™!
(3) -52.27kJ mol™! (4) +52.27k] mol™!

s WA H TR g 701 ) 3
g B @ w freem gra 394 )
%7 T ST 8 | 39 WoRH § ST
St & fepaa afterd g ?

(1) =307 (2) +3071)

(3) +1095) (4) -10951]

Frfirfspan
2Cl,,, —> CI
s

(1) Y OIS

(2) QAL TATCHh

(3) AH RUITcHe 3R AS HHTHS
(4) AH HATcHR 3T AS SROTHS

¥ fow AH @ AS &

2(a)

i g A & foEm &
o fpw ol % WifeEw w&@U A
JTTERIHT B 2

(N CHRCHECOONa

(2) CH,—-CH - COONa
S
CH,

(3) CH,COONa
(4) CH,—CH,—-CH,~CH,-COONa

¥

1.
‘o *iclements in their standard states are
.

The enthalpies of formation of all

(1) Unity

(2) Zero

3) <0

(4) different for each glement

The enthalpy of combustion of
methane. graphite and dihydrogen at
298 K are —890.3 kJ mol ™',

~393.5 kJ mol~! and —285.8 kJ mol™'
respectively. Enthalpy ot formation of
CH,is

(1) —74.8kJmol! (2) +74.8 kJ mol”
(3) —5227 k) mol™' (4) +52.27kJ mol”
In a process 701 J of heat is absorbed
by a system and 394 J of work is done
by the system. What is the change in
internal energy for the process ?

(1) =3071J (2) +307)

(3) +10951] (4) —10951

For the reaction
ZCI(g, — Clzl;;

AS are

(1) Both negative

the si.gns of AH and

(2) Both positive

(3) AH negative and AS positive

(4) AH positive and AS negative
Sodium salt of which acid will be

needed for the preparation of propane
by decarboxylation method ?

(1) CH,CH,-COONa

(2) CH;-CH - COONa

|
CH,

(3) CH,COONa
(4) CH,—-CH,—-CH,~CH,—-COONa
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Tehdl Y Bl % @y il

it 1 R frferaa form deiem %

IHAH R
(1) F, (2) Cl,
(3) Br, ) 1,

Fr=fafaa forw amgem demee 6w
R A h rffsramsiierar s=an & 7

(1) HF (2) HC/
(3) HBr (4) HI

Frefafaa frg woblm =1 30 s
S — 2 — 379 qeT 93T 2 R 0

() FE-2-%
(2) MI—1 -3
(3) 2 -9 gide
4) - 1-F

Hg?' / H*
CH,-C=CH + HEO—%F A
It aifrforan & A 2
(1) CH,CH,CH,OH
(2) CH,-CH,-CHO

(3) CH,-C-CH,
||

(4) CH, —Cll - CH,
OH

ﬁﬁ%rﬁaaa&%mmmwsﬁm?

i heat 9T

+

27UV light
@ CE "

Youlle

10.

The rate of reaction of alkanes is
highest with which of the tollowing
halogens ?

(1) F, () €l
(3) Br, 4 1,

The reactivity of addition of which of
the following hydrogen halide is
highest with alkene ?

(1) HF (2) HC/

(3) HBr (4) HI

Ozonolysis of which of the following
alkenes give propane — 2 — one and
methanal ?

(1) But—2—ene

(2) Prop-1—ene

(3) 2—Methyl propene

(4) But—1-ene

Hg** / H*

A in above reaction is

(1) CH,CH,CH,OH

(2) CH;-CH,-CHO
(3) CH -C- CH

I
O

(4) CH,-CH-CH,
+ € :
OH

What is the product of the reaction

given below :

O.fg

heat or

UV light

Jegkle



1.

12.

14.

Frefafiaa 3 & @ o e ffea R 2
(1 R — X + Nal — RI + NaX
(2) R-Br+ AgF— RF + AgBr
“C/ _
(3) CH,=CH)+B|-,_S_4_>CH,—CH,
> , T BIy A
Br Br
(4) ROH + SOCI, — RCI+ 804 + HCY

Prfirfaa fora Ycepiaier o aTsT i A<
’Tiﬂ-%ﬂ@ I Cu o W ¥ yarted
FO W AfeeeEes A1 HIeH I TE 8 2

(1) (CH,), COH
(2) (CH,), CHOH
(3) CH,CH,CH,OH
(4) CH,CH,OH

CH, — CH = CH - CH, - CH, - CN
(1) A/H(i - Bu),

(2) H,0 ’

e 21RTRRaT 1 ST B

(1) CH,-CH,~CH,-CH,~CH,-CN

(2) CH,-CH,-CH,-CH,~CH,~CH,-NH,
(3) CH,~CH=CH-CH,-CH,-CHO
(4) CH,-CH=CH-CH,~CH,COOH

(j(ﬂs Cl, H,0
— -~ >sA——B
hy 373 K
A 31T B shE: %
(1) FAREIH, T
(2) AT FANTGS, T CSEISS
(3) p-aciRIeTeE. p-fehatet
(4) 0-FANTTLH, 0-FeA Arlgeh oA

11.

12.

14.

Which of the following is Swart’s

reaction ?

(1) R-X+Nal—> RI+ NaX

(2) R-Br+AgF—— RF + AgBr
e

(3) CH3=CH3+Br2___;4_>CH3-CH3

|
Br Br

(4) ROH +SOC,— RC/+ SO, + HC!

Which- of the alcohol

vapours passed over heated heavy

following

metal catalyst Cu does not give
aldehydes or ketones ?

(1) (CH,);COH

(2) (CH,),CHOH

(3) CH,CH,CH,OH

(4) CH,CH,OH

CH, - CH = CH — CH, - CH, - CN
(1) AIH(i - Bu),

'_)
(2) H,0

The product of the above reaction is
(1) CH,—CH,-CH,-CH,-CH,~CN
(2) c 1'_,‘—(1 1,-CH,~CH,~CH,-CH,~-NH,
(3) CHy CH=CH- (‘l"l2 —-CH, - CHO
(4) CH,-CH=CH-CH,-CH,COOH

CH: ¢/, H,O
hy 373K

A and B are respectively

(1) Chlorobenzene, Phenol

(2) Benzal chloride, Benzaldehyde
(3) p-chloro toluene, p-cresol
o-chloro

(4) o-chloro toluene,

benzoic acid

15



I5.

16.

17.

18.

19.
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frteRaa fora arfirrdess g orgsa @
FNGFAT X I FUEH YT
I~ifeeeRe I glar & ?

(1) Cro,Cl,

(2) K,Cr,0,

(3) DIBAL-H

(4) CH,CoOC!/ = AlCH,

frfaRea @ @ fergen Fers s=au 2 2
(1) CH,CH,CH,CHO

(2) CH,CH,CH,CH,OH

(3) CH,CH,OCH,CH,

(4) CH,CH,CH,CH,CH,

fr=feiRaa fepa sto=mess g Ufceass
3R FH H1 > C = 0 T > CH, 98
# IgeRE BT g 9

(1) Zn-Hg 3R g HC/

(2) LiA/H,

(3) NaBH,

(4) IATH BRI

frafafea @iffeel & @ froh
aAftramsiicar Tfeed Fimmeres
arfirfean & fqu s=an 2

(1) a~ifceese

(2) p-diefufeseTse

(3) pgE=feEsEe

(4) THIRHHA

g A
C,H.CH0H - 5 KON p s C

I fufsrarsea d 0 2

(1) S5 I

(2) e wHTEH s

(3) % e Wi

(4) TFH - 1, 6 - T3 HIgh 30

>A

IS.

16.

17.

18.

19.

Reaction with which of the following
reagents followed by hydrolysis gives
benzaldehyde tfrom toluene ?

(1) CrO,Cl,

(2) K,Cr,0,

(3) DIBAL-H

(4) CH,COC// Anhydrous A/C/,

Which of the following has highest
boiling point ?

() CH,CH,CH,CHO

(2) CH,CH,CH,CH,OH

(3) CH;CH,OCH,CH;

(4) CH;CH,CH,CH,CH,

With which of the following reducing
agent > C = O group of aldehydes and
ketones is reduced to > CH, group :

(1) Zn—- Hg and concentrated HCF
(2) LiA/H,

(3) NaBH

(4) Cﬂtalytic hydrogenation

Which
compounds
reactivity 1n
reaction ?

(1) Benzaldehyde

(2) p-Tolualdehyde

(3) p-Nitrobenzaldehyde
(4) Acetophenone

following
order of
addition

among the
has  highest
nucleophilic

¢ HeH,on <HBL, 4 KEN, g

=y

A

Hoo ¢

Al

*C” in the above reaction sequence is
(1) Benzoic acid

(2) Phenyl ethanoic acid

(3) Phenyl ethylamine

(4) Hexane - 1. 6 — dioic acid



24,

Srferfiga airfran w1 3am 2

(1) ClysmaP

(2) H,0 -

(1) 2-FAIeATEH 3T

(2) 3-FAISEAIGH I

(3) 4-FASLASH I

(4) ST FAUTE

frferfaa 3 @ o Gifsaw eau @iel

STEH (NaOH 31 Ca0) % @1 T &

R FTE SEIITFTEE I~ HLT & 2
OH

CHCH,CH,COOH

(1 (2) CH,CH,OH
(3) CH,COOH

frefafiga o @ i o wWifes 8 2

(1) i @ || |
o o ()

IR STRA h1 et | Aglesh 3T
fepereht wiife sl s @ 2

(4) CH,CHO

(1) 3= (2) &K

(3) <@ (4) SRR
frafefaa e ferfim i & @ T %
oeRRT W % GHa H gig Bl 8

(1) faafim K (2) feeftm E

(3) frifmB, () fafEB,
T B A HEG T HI % W T
HH W YT BT 8

(1) TeT TRITE! g
(2) TEERITE I
(3) U= SATETST B
(4) n-gFRMA

21,

22,

)
o

24,

I~
:J'I

The product of the following reaction
is

(1) ClyredP
(2) H,O

(1) 2-chloro butanoic acid

(2) 3-chloro butanoic acid

(3) 4-chloro butanoic acid

(4) Butanoyl chloride

CH,CH,CH,COOH

Sodium salt of which of the following,
when heated with soda lime (NaOH
and Ca0) evolves carbondioxide ?

OH
(1) @ (2) CH,CH,OH

(3) CH,COOH  (4) CH,CHO

Which - among the following is
aromatic ?

w A e

In the process of generation of

nitronium ion. nitric acid act as a/an
(1) Acid (2) Base
(3) Salt (4) Electrophile

Deticiency of which of the following
vitamins causes increased blood
clotting time ?
(1) Vitamin K
(3) Vitamin B,

(2) Vitamin E
(4) Vitamin B,

Glucose on prolonged heating with HI
forms

(1) Hexaiodo hexane
(2) Gluconic acid
(3) Penta-iodo hexane
(4) n-hexane

15



26.

27.

28.

29,

15

=t fra sifirrds @ arfirfean,
TR § HTEie agg Y Iufefy &
NEETGIEE

(1) HI

(2) NH,OH

(3) ufafes TR
(4) H,0

fFrafafiga 9 @ 2, 2p,. 2p, R 2p,
THTUTE HeTehl o a0 Bl & G @
WIS S T sp’ Gt Fgh Tt T R 7

| | | | '
(M Vi =2V F 2V, T 2V * 2V,

| | 1 - l
(2) ‘l"s;'r‘ = 5""35 + EWEP_\_ - szl‘\- - szpx

| 1 I l
(3) Ipsp-‘ = 5“’25 - 5“"’2]1_" + E‘plp‘_ - Ewlpz

| | | |
4) Vi = 5""25 - ?p.'lp_r - __';\'I"Ep\. - 5"’2;1_’_

Frafafiga 4 @ fva s go =3y
i Jmfers e I=aw ghft ¢

(1) s (2) sp
3) p (4) sp’

frafafaa da s o smm Wig @ 2

(1) N; 2) €Oy

(3) NO; (4) BF,

SF, ¥ wfesdo 7w #9 F01 ¥ R
i g Prafafea frg fRafy o o
ST & ?

(1) In&ig Sudt fefa

(2) foyad feufy

3) HxH

(4) A&t ot fafa

26.

27,

28.

29.

Reaction with which of the following
reagents indicates the presence of
carbonyl group in glucose ?

(1) HI

(2) NH,OH

(3) Acetic anhydride
(4) H,O

Which of the following hybrid sp?

orbital obtained is incorrect after

combining the wave functions of 2s,
AT

2P 2p}, and 2p_ atomic orbitals ?

1 I 1 1

(1) wsp-‘ - szs r 5""’2[)_‘, 2 5‘“2“ % E‘ylp ,
I 1 I I

(2) "llsp‘ = 5‘{’3‘\- + 5""2}1_‘, . E\Vﬁlp‘_ . EIIJEPZ
I I

~J

| |
) VY = W~ 5‘”2"( + W“’p‘ = qulpx

| |
(4) Wsp-" = 5"}25 - Elplp_\, = Eli"2|'1“ - Wlpz

The relative strength of bond formed
by which of the following orbitals is
highest ?
(1) s
G) p

(2) sp
4) sp?

Which among the following ion is
linear ?

() N;
(3) NOj;

() COy
(4) BF,

In SF, to minimise the repulsive forces

the lone pair occupies which of the
following positions ?

(1) Apical top position

(2) Equatorial position
(3) Atthe centre

(4) Apical bottom position
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LR 0T TR 3

1 Vl!,!+8mm(E V=0

2) Viy+ 8’ m(E-,. =1
3) VEW 81 m(E+V)\|J—(}
@) Viy+ 8§ m(E V)w=0
NF, 3l S8 10T NH, 1 e 5 2
(1) e

(2) s<t

(3) NH, % ®4H
(4) AR AR ST Hehdl

25 3R 2p, el % Feroor & Frferfaa
Y T sp o HeETeh T BT & 7
1

(1 v, = ﬁ Vot ?E Wip,
2) v,= % Yo F % Wap
3) ¥, = % Yoo — é Vo
4 v, = ;}—'_J," Y t '\;—:, VYo,

frafafas &F @1 HUF STHGEANH

Afirt F foru daisrrar amey fagra

feadiadig?

(1) I8 Tl o s i ST HLAT ¢ |

(2) I8 SYHEEASH Afiepl gRT g g
Tl ohl SAREAT LT § |

(3) ¥ go@ qul vad forrel % "
fordg 7 =t |

(4) g ITHFEAISH AN T T
) AT HET ¢ |

3.

32.

]
(7]

Schrodinger wave equation is

(1y Vy+—>5— T[ (E Viy=0

8 s
(2) Viy+ “l'"(E—V)wO

n(E+V)w=0

8 K
(3) Y+

4) Viy+ K (E -Vyy=0

The bond angle in NF; as compared to
NH; is

(1) smaller

(2) greater

(3) sameas NH,

(4) cannot be predicted.

Which of the following sp hybrid
orbital is obtained by hybridising 2s
and 2p orbitals ?

s _\;_—i Vo, ¥ \_}5 Vap,
(2) v, = '\]L‘{ Yoot % Vap,
(3) W= ;/—l; V- ﬁ Wi,
4) vy, = é Vo, * UL{ Vap,

Which of the following statement is
not true for valence bond theory for
co-ordination compounds ?

) v,

(1) It explains formation of complex.

(2) It explains the colour exhibited by
co-ordination compounds.

(3) It does not distinguish between
weak and strong ligands.

(4) It explains structures of co-
ordination compounds.

15



36.
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[MnBr,] >~ % hadl — FEEHU’ ga?ﬁa
WWWS.‘JBM%IWW@
st gt

(1) =gehershia

(2) TEHA

(3) Toafid

(4) <pedt

foreel <l agdl g5 & Jeerdl %1 g8
H 2

(1) OH~<C,0; <H,0 < NCS~ < NH,
(2) H,0<C,0; <OH~<NCS~ < NH,
(3) H,0<NH, <C,0; <NCS™ < OH-
(4) H,N<H,0 < OH™<NCS~<C,07
kTR pa H  fafafea e

d-%ati % off Sl 1 3= 10 Dq & 2
(1) d 3fd,,

(2) dr_\ aﬂtdxz

(3) tedie,

4) d,, 3Wd,

d oI ST et hl CFSE 8
(1) =124, (2) 044,
(3) -0.6A, (4) 0.8 A,

A=RAIEl | =R AeE S 3R wefa
ANTEH L hl Toh E1Y et 9T A5 a9ied
&I J U Bt @ | hiw % 3T W@

Aftrep R B ) F=fafaa § 4 = @
TEU TR R ?
(1) J=L+S (2] 1=L-8

4) JZ‘\/L‘S

(3) ]=S-L

36.

38.

The ‘spin only’ magnetic moment of
[MnBr,]*~ is 5.9 BM. The geometry of
the complexion will be

(1) Tetrahedral

(2) Square planar

(3) Pyramidal

(4) See-saw shape

The correct increasing order of field
strength of ligands is '

(1) OH-<C,0; < H,0 < NCS~< NH,
(2) H,0<C,0; < OH- < NCS™ < NH,
(3) H,0 <NH, <C,0; <NCS~<OH"

(4) HyN<H,0<OH"<NCS~<C,0;

In octahedral complex 10 Dq is
difterence in energy between which of
the following d-levels ?

(n d_‘,_‘, and d_w_

2 5 5 1 )

(2) d_\.__).- and d,
(3) t,gand €y

(4) d.andd,

Complexes of d* metal ions have a
CFSE of
() -124,

(3) -0.64A,

(2) —0.4A,
(@) -0.84,

In the lanthanides the spin contribution
S and orbital contribution L couple
together to give new quantum numbes
J. Which of the following relation is

correct 'when shell 1s more than half
tull ?
() J=L+S8S (2) J=L-S8
(3) J=S-L 4) .I=\}L-S
u ]



40.

41.

42,

44.

Soarrel % e ar Arefet § Jeh
et p 1 Preffea & @ SE @
Tde?

() u=Hee+D

(2) p=nheE-1)

(3) p=m\Id-2)

@) p=gId+1)

frofafiga & @ 1 @1 A ARA
EDTA % 91 Seeidaq Gpet S1a1 § 2
(1) Lu™* (2) Cet

(3) Pri* (4) Nd¥

[Ce(NO,), > # Seli NO; g1 41 &
ITEEEASH A HH 3 ATl AT

T Y HE
(1) 0 ) 1
(3) 2 4 3

S9FTaEl % AN SR SEg H

foru frafafaa § @ 7 @1 FHoA w728

27

(1) a8 e @ urg A AR seagH
LAV A AR |

(2) ¥E a9 Afreh Il § S Urg hl
I STTad TRl STEEAT & |

(3) TEht EWEAT a9 e B 9™
e §f atfediers U A |

(4) TR STHIGET TG 1 I~ LT 2 |

[celV fafew Tiem),) wHer R
aTepla &

(1) TgoheThid
(3) ATHTHE

(2) ot gfafew
(4) o THaeh

10

40.

41.

42.

44,

Which of the following formula is
correct for the magnetic moment [ in
Bohr magneton for lanthanides ?

() p=Regg+n
(2) n=hgg-1
3) n=g\fId-2)
@) p=g\fIu+1

Which of the following lanthanide ions
form strongest complex with EDTA ?

(1) Lo (2) Ce**
(3) Prit (4) Nd**

In the complex [Ce(NO;) ] the
number of oxygen atoms used by each
NO; to co-ordinate the metal are

(h o (2) 1

(3) 2 4) 3

Which of the following statement is
incorrect for charge transfer spectra in
Lanthanides ?

(1) It is due to transfer of an electron
from ligand to the metal.

(2) This is more probable if the metal
is in high oxidation state.

(3) It is more probable if ligand has
oxidising properties.

(4) It usually produces intense
colours.

The shape of the complex

[Ce'V (acetyl acetone),] is
(1) Tetrahedral

© (2) Square antiprism

(3) Octahedral
(4) Square planar
15



45. 39 ¢ W BITHH HT a@ LT G

46.

47.

48.

49,

15

SR ferares 1 foem 2
(1) V=K

(2) V=K[PH,]

(3) V=K[PH,][W]

(4) V=K[PH,]?

v e B afufrn % faw 99,90,
afirfshen ot 89 1w, 509 qof B
o1 fehaT 7T R 2
(1) 507
(3) ST

forelt arfufsran o SR <61yl
HIEA GAT W W affean =1 ¢,
QAT B S 2, a9 il 6 R
gt

(1 0
(3) 2

(2) 107
(4) 2.57m

4) 3

el % st frgia & e & vt
IH F fgames e wfy dwve why
$TS STRIGH <hl G &) et 2

(1) Z=2no(8mkT/p)"

(2) Z=2nc*(8mkT/u)

(3) Z=2n%c%(8nkT/u)"

(4) Z=2nc(8nkT/1)

N,O & fadfta #ife foreren =1 3 s
ﬁtr%rﬁqaﬁmwaﬁ‘rmmm%:

k = (5.00 x 10" dm® mol! s
exp(=10,000 k/T), 15w 6t gfimaor
S gt

(1) 10.000 J/mol

(2) 8.314 J/mol

(3) 83.14'kJ/mol

(4) 5x 10" I/mol
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46.

47.

48.

49.

The catalytic  decomposition  of
phosphine on hot Tungsten at high
pressure has the rate law

(1) V=k

(2) V=K[PH,]

(3) V=Kk[PH] [W]

(4) V=K[PH,]?

For the first order reaction. the time
required for 99.9% completion of
reaction is how many times that
required for 50% completion ?

(1Y 350 times (2) 10 times

(3) S5 times (4) 2.5 times

The ti, of a reaction is doubled as the

initial concentration of reactant Is
doubled, then the order of the reaction
is

(1) 0

(3) 2

(2) 1
(4) 3

From the kinetic theory of gases the
number of bimolecular collisions per
second per unit volume among
molecules of one species is given by

i 14
(1) Z=2no(8mkT/p)”
(2) Z=2n’cX(SnkT/u) -

A

(3) Z=2n’6*(8mkT/n)"
4) Z= 2no(8wkT/u)

The rate constant for the second-order
decomposition of N,O follows the
following equation :

k = (5.00 x 10" dm® mol-! s
exp(=10.000 k/T) activation energy of:
the reaction will be

(1) 10,000 J/mol

(2) 8.314 J/mol

(3) 83.14 kl/mol

(4) 5x 10" J/mol



5

n
w~

0.

(1)

Cd | CdCl, - 5H,0 @) || AgCl, | Ag
B BT EMF 25 °C 9 0.7 volt 8 | 3&%:
o et STl e &

(2) —135.1kJ

(4) —67.55kJ

135.1 klJ
(3) 67.55Kk]

3t d rfafsran
Agl T € =R, a% fere, goteTS
fora 2

o RT

(2) E-“—Ei;mg —F”ln[Ag]
(3) E=E, 4.~ (AT
4) E E:gm +—c-n [A;m]
fire aae F8 KCI % o fearg -
Tl — TR FHHTT 7

820 x I( 24
(D h=, % (li:)l (r:i)' l[\f_
(3) ;‘m:):n_jl(f)%l.‘;:n bj((lj;clm K‘"[\l_
& ?L'“:}L:‘Jr %(lii}i"l]- S‘{Eg':}}!ip 7\,,?,1[ Ve

) @m—ﬁﬁzﬁﬁﬁaﬂt%—wéﬁﬁﬁ

aﬂﬁ ATULH & g —log ry aﬁ«jﬂ%
fireg 3norET & 1@ 1 &« B

1
(1) 3%0.509 (2) 0.509

(3) 3x0.509 (4) 4x0.509

12

The EMF of the cell
Cd | CdCl, - 5H,0 (saturated) || AgCl | Ag
is 0.7 volt at 25 °C. The free energy
change for it is
(1) 135.1kJ
(3) 67.55Kk]

(2) —135.1kl
(4) —67.55kl

The dea,tmdc. potential for the half cell

reaction
: _ :
By T Ay

R1
(H E= E\'W\ + In [Ag']

. RT
(2) E:E:\gﬁ".-\g_ E In [Ag]

- 2 R_T +12
(7)) E= E_Ag+f,-'\; = F In[AgT]

1

() E=Ey
Debye-Huckel-Onsagar equation for
clectrolyte like KC/ is
3 JS”()X]()

(D) A=A, | o~ {[)8'12‘;311)&:'}\[6
(2) :x,,,=?»:,, %(1;)4 2 q:rt;:(;](} M,,}\l'
(3) A= :1_]l{i):?l.'dinJFSIE((I}';"(F;Un }L:‘:‘}\jﬁ
24 820 10° X
&) 1,=x +'l = (1():)’ ‘I\r

For plotting —log r+ against'\/:l. the
slope of the line for uni-trivalent or tri-
univalent electrolyte will be

I : :
() T‘XU.S()O (2) 0.509

(3) 3x0.509 (4) 4x0.509

15



un
h

560

15

0.02 T Na,SO, faerm &1 amrf
qmed 2
(1) 0.02
(3) 0.04

(2) 0.03
(4) 0.06

50 ml 0.2 M HC/ @1 50 ml 0.1 M

NaOH @ firerre v 21 arer ferm
T pH =1 81T 2

() 0 2) 1

(3) 1.3 4) 12.7

AG
AG = AH + T[a aTJp%

(1) fres-geugives aie
(2) foruE® g
(3) Tirsst gem wfiemtor
(4) TN TS Rrrg Tefien

Fefafen swremfs ol @

A=A =t forcem wdedt Bt
; 15
(1) CeHey, +_2“02[g) ? 6C03[g] T
3H,0,,: AH =-3267.7 kI
(i) C,, + Oye) > COyypr
AH =-393.5k]
]
AH =-286.2 kJ
(1) +48.1kJ (2) —48.1klJ
(3) 2588kJ (4) —2588 klJ

T AMNGRT &+ fRR g™ W AH =1
AN % Y iEdT Frefafes § @
ol S 2 2
() ¢,
(3) AG

(2) AU
) C,

13

58.

The ionic strength of 0.02 molal

Nz13804 solution is
() 0.02
3) 0.04

(2) 0.03
(4) 0.06

What is the pH of a solution obtained
by mixing 50 ml of 0.2 M HC/ and
50 ml of 0.1 M NaOH ?

(1) 0 (2) 1

(3) 1.3 (4) 12.7

AGY |
AG = AH + T(a DTJP is

(1) Gibbs-Helmholtz equation
(2) Kirchhoff equation '
(3) Gibbs-Duhem equation

(4) Clapeyron-Clausius equation

From the following thermochemical
equations the enthalpy of formation of
benzene will be

15

(i) C(»H('-HJ * 2 02{;}_‘% GCOE@ +
3H30m: H=-3267.7kJ

(i) Cpy + Oy — COyy);
AH =-393.5kJ

ﬁii)Hz;;; + % Ozlg] — HEO(!):
AH =-286.2 kJ

(1) +48.1kJ (2) —48.1kJ

(3) 2588klJ (4) —2588klJ

The variation of AH of a reaction with
temperature at constant pressure is
equal to which of the following ?

(I C, (2) AU
(3) AG 4) C,



60.

61.

62.

64.

frferfiad 1 & S T IcHAvE WHA &
fauadid?
(1) AS +AS. =0

svstiem surrounding
(2) AS\\ Stem Assurrnumling {_ (.}
. ( ) AS“ stem Assurmlllltling =0
(4 ASem ™ ASaurrounding
freferfiad & & 9 @1 O Hie ITeH
¥ fore gwamraa wshe # deidt uRedd

AR
T vV,
(n CI1 n [i‘] 2) Cp In [V_}]

T, v,
(3) €. (Tl} 4 C, n [‘\‘/_1

aEFART ¥ Frefafed e gedt §
TSI St STERIY % 1Y I HIV T
wrel frpfer 2 2

(1) i (2) e

3) e (@) A

11-@?%%%’%?1%@?1%@?1\1@[
4 |1 yidfera €98 2

(1) Qi QU Ty

(2) Al TN EEY

(3) e 3R fom a&y

(4) VUt 3 TS TEY

n-SA F T wEqU § AR Hgl
FETMER

(1y 0° (2) 60°

(3) 120° (4) 180°

n-SeA % QA qer Tt wEAor # feat
Sl ol IR 2

(1) 0.8k cal
(3) 3.4kcal

(2) 2.8 kcal
(4) 5.0k cal

14

60.

61.

62.

64.

Which of the tollowing is correct for a
reversible process ?

CF B8 o T B it D
(2) A8 g T DS ot 0
(B) AS, e VA i

(4) AS_ e~ BS wrrounding ~ 0

Which of the following gives entropy
change of one mole of an ideal gas for
isochoric process ?

T, v,
(1) CP in [T_;] (2) C11 n (‘\T]

T, Vv,
3y C M T_;] (4 C./n V—;

Which of the following conformer of
cyclohexane has highest energy barrier
with high angle and torsional strain ?
(1) Chair (2) Half chair

(3) Twist boat (4) Boat

Which of the following pairs of
conformers of n-butane are
enantiomers ?

(1) two anti-conformers
(2) two gauche conformers
(3) anti and syn conformer

(4) anti and gauche conformer

In the gauche conformation of
n-butane the methyl groups are apart by

(1y 0° (2) o00°
(3) 120° (4) 180°
What is the difference of energy

between anti and gauche conformation
of n-butane ?
(1) 0.8 k cal
(3) 3.4 kcal

(2) 2.8 kcal
(4) 5.0k cal

15



06.

67.

15

fr=fefea § @ frae fmma - 220
CH, . /H CH, \ /H
(1) ﬁ' (2) ‘(|‘
C C
Br / \Cf Cl / \Br
(3) ﬁ‘ (4) ﬁ
& g
C/ / \H Br / \Cf
@®
+ CH,0 + H,N = (CH,),Ct"
H,C
8]
Et OH
A HC CH,N(CH,),
0
SUUeR TR T e &
(1) wierer sthfma
(2) fafen sifufran
(3) w2 Affsren
(4) TSI §u
CF;COOOH N
O CF,COOH
A % 9g=IfAT
(1) CH4(CH,),COOH
(2) &
(‘F_;

0O
o
(4) O—COOH

15

6S.

606.

67.

Which  of the following has
Z-configuration ?
CH; \ H CH,; \ /H
(n (If!' (2) ﬁ'
&
Br \C/ C/ / \Bl
CH; /Br H \ /Cz’
(3) i (4) ﬁ'
C €
/ \
Cl/ 3 Br / C/
@
+CH,0 + H,N - (CH,),CF
H,C
0]
Et OH
A . HE CH,N(CH;),

0
The above reaction is an application of

(1) Mannich reaction
(2) Wittig reaction
(3) Stobbe reaction

(4) Aldol reaction

CF;COO0H
CF,COOH ~

o)

Y

Identity A.
(1) CH,(CH,),COOH

(2)



68.

69.

70.

PhCHO + CH,cHO —NaOH, x
LTS

A
Y i 9T

(1) PhCH = CHCOOH

(2) Ph-CH,~CH,-CHO
(3) Ph—CH=CH-CHO
(4) Ph—CH=CH - Ph

KCN. DMF
Me CHO RT 20T
?H
o

9 siffear Rrefafea § & g
IIE & 2

(1) oS duH

(2) S=TEA HEH

(3) Hawm aaffran

(4) il arffshaT

frafafiga sffra w130 R

CH,COONa
|| ¢ +iencon0—= ;
4] CHO

ol |
N 07" \CH =CH - COOH

(2)
0~ N\ CH = CH - COOH

o
N 07"\ CH =CH - COCH,

(4)
07"\ CH, = CH, - CHO

68.

69.

70.

NaOH

PhCHO + CH,CHO —&F X

S i Y

Identity Y.

(1} PhCH=CHCOOH

(2) Ph—CH,-CH,~CHO
(3) Ph—-CH=CH-CHO
(4) Ph—-CH=CH-"Ph

KCN, DMF

Me_@'mo RT. 20 hrs

The above reaction is an application of
which ot the following ?

(1) Aldol condensation
(2) Benzoin condensation
(3) Cannizzaro reaction

(4) Knovengel reaction

Product of the following reaction is

+(CH,C0),0

U CH,COONa_
CHO

O

0 \(‘H=(‘H—(‘OOH

No” \ CH = CH - COOH

oIl
07\ CH=CH - COCH,

) |
07"\ CHy - CH, - CHO

15



71.

72.

74.

15

(1) BrCH,COOC,H; /Zn
(2) H,0

0

>

OH
CH>COOCHs5

I Ifferan frferRaa § @ fraem
FPEATR? .

(1) FepragEht sifufsen

(2) =y FAfafern

(3) fafe srfufsran

(4) wrtw atrfRan

DDT wiwt & % forg f=fafea & @
fraht sfufsen FRe=A 3l @
H,S0, =1 ufef & = 7 2 2

(1) CH,CHO (2) CH,CICHO
(3) CHCLCHO  (4) CCI,CHO

NO:  KCN =
C,HOH 5
Br 150 °C

I90 SRR A X 2

NO, CN
N Br

3 4 )
&) Br/O\('N 2.5

NO;
K;Fe(CN),
NaOH

17

71.

72.

74.

(l) BrCH,COOC,H; on
(") H;O"

OH
CH>COOC5H;

The above reaction is an application of

which of the following ?

(1) Reformatsky reaction

(2) Cannizzaro reaction

(3) Wittig reaction

(4) Mannich reaction

Which of the following is reacted with

chlorobenzene and in presence of

concentrated H,SO, to get DDT ?

(I) CH;CHO (2) CH,CICHO
(3) CHCLCHO  (4) CC/CHO

C,H.OH

: 150 °C

X in the above reaction is

0 ST e LT
L)

K,Fe(CN),
NaOH

______“___,\(

NO,

In the above reaction the main plOdLlLt
‘A |f~.

(1) 2. 6-dinitrophenol

(2) 2.4-dinitrophenol

(3) 2-nitrophenol

(4) 3-amino nitrobenzene



CHO

SnC/, / HC/
75. _—

NO,
Iqa TR 1 I @
CH,OH CH,OH

2l » Ol

CH,C/

Ol = CL

.,

NaNO,/HBF, NaNO,
76. = > A — B
Cu
NO,
sfifrd B2
NO; NH,
(1 2)
NO, *N,BF;
() w0
NO: N02
Zn / NaQH
77. 2CHNO,— X
IqU IrtfsraT d X 2
(1) C,H;NH,
(2) C,H;NHOH
(3) C HsNH—NH - C H;
(4) C,H,N=N-CH,
(=]

18

76.

77.

SnC/, / HC/
—_—

CHO
@NO

Product of above reaction i1s

CH-OH CH-0OH
@ @N H,
CH.C/
@ CLNO2
NH,
NaNO,/ HBF, NaNO,
= > A =
Cu
NO,
B in the reaction is
Qo0
NO, *N,BF;
NO, NO,
Zn / NaOH
2CHNO,—— X

65
X in the above reaction is
(1) C,H;NH,

(2) C,H,NHOH
(3) CHsNH-NH-CH;

05

(4) CCH.N=N-C H:

6705 0 'S5

15



78.

79.

80.

81.

- 82,

15

FeTierfea 3 & i a1 dagg ager £
(1) uifeefiq

(2) wifcIfemTSe TS

(3) wehaTse

(4) Uiferesia

Tl — 1 g — 11 S e Hifvre -

T -1 = -1
L. W a. 29N 1, 3-SQI8R
N Bl b, 23R 1 3-perera

1. freres
V. 2fef

HiE :

I 1 1 1
(1) a b C d
(2) d 3 b a

TS ST H NH, 1 3] e formame
ferticrfiaa & & o wopme & fear s 2 2
(1) Gr402i0|5 (2) Glggle—Ei

H]
Bopm 2 i 3
(4) 0,,0,;0,2

RMgBr 3tk S 1 1Rl & s a1t
ERICE]

(1) RBr 3 MgS

(2) MgBr 3R RBr

(3) RSH 3 R,S

(4) R,S, 3R MgS

- ) 7
3) o); 0,510,

<

19

78.

79.

80.

81.

82.

Which  of the following is a
thermosetting polymer ?

(1) Polythene

(2) Polyvinyl chloride

(3) Bakelite

(4) Polystyrene

Match the List — [ with List - II :
List -1 List — I1
I Natural rubber a. 2-chloro-1,
" 3-butadiene
b. 2-methyl-1.
3-butadiene

II. Neoprene

I1. Glyptal ¢. Terephthalic
acid and
ethylene glycol

IV. Terylene d. Phthalic acid
and ethylene
glycol

Codes :

I I ur 1v

(1) a b C d
(2) d c b a
3) b a c d
4 b a d C
Bactericidal antibiotic is
(I) Erythromycin (2) Ofloxacin
(3) Tetracycline (4) C hloramphenicol

Non-narcotic analgesics is
(I) Morphine (2) Heroin
(3) Codeine (4) Paracetamol

The molecular orbital configuration of
NH; in ground state is given by

422
(1) cFI' GZU Gic

H

@) oioloy
3) c,20,} 0,2

=
[ AN

2 )
(4) Gzﬁ 9120¢

The products obtained by reaction of
RMgBrand S, are

(1) RBrand MgS

(2) MgBrand RBr

(3) RSH and R,S

(4) R,S, and MgS



84.

86.

87.

e st 1 ol BT

Wy 54 5
Bi + | Cr— !+ lnn

83 24

(D

260

10
Itl‘f‘Ul ¢

261

(2)
(3) “”Uns (4)

frfafa Beafafa & [SH'] ferg
mmqﬁwwﬁm,m%
S o g & Sl

e
=

-1

20l U
7P

3{\_‘1U
ns
107

g+ AHt SH' + A

K,
SH*+ A—2 P+AH'
k_k,[SIAH]
k|k3

K+ ks
K k(ST [AH]
k k,[SI[AH]

k |+ Kk,
, ikts)
) 1 IGIAH'

55 0C T 0,01 M TEhfesh 3t i ffere
STerehat 0.0163 Sm ! uTel T | 3 %
fopitom B T w0 Ev A TR
el B I agal T A Seshdl
390.7 x 10~ Sm? mol~! 25 °C R |
(1) 4.72 (2) 0.04171

(3) 0.472 (4) 0.00472

(1)

(3)

T = 0 R ek ot &9 & Topeeefra wered i
g TR S =02 a9 T qrHH T HRH

Tt S &t

.
(1) 0 (2) J C{, d(in'T)
0
IS 5
3) | G, (4) ‘ d(/n T)

0 1]

20

84.

860.

87.

Complete the following reaction :

w0, 5 ‘ I
Bi+. Cr—>7+2n

83 24 0

200 | 5 2{\|U
(n m?L no (2) " np
= ?_MU : 4 E{ﬁU .
(3) O @ o™

For the mechanism given below: on
applying steady state approximation
for [SH'] the rate of formation . of
product is given by

—
=

S+ AHT SH* + A

k, .
SHY + A——=— P+ AH’
k_lkl[S][AH"‘]

M kK,
k_+ ks
(@) [S][AH]
k Ky[SIIAH']
() T +k,
Kk ko[S]

4} K[AHT]

The specific conductance of 0.01 M
solution of acetic acid was found to be
0.0163 Sm~' at 25 °C. What is the
degree of dissociation of the acid if
Molar conductance of acetic acid at
finite dilution is 390.7 x 107 Sm> mol™!
AL 25 " C. '
(1) 4.72
(3) 0472

(2) 0.04171
(4) 0.00472

For a perfectly crystalline substance,
the absolute entropy S = 0 at T = 0.
then S, i.e. absolute entropy at
temperature T will be

(H o (2) | C,dinT)

-t . -

4) d(lfn D)

IR

—[a
® ¢,
)

15



88.

89.

90.

15

FrateRaa srfrfran

CH,
+ O 8050y D0 4
OH
.
KMnOy B H C
H3dEeC' 2
CH, CH;
$O,C Hs
(1) (2)
OH
COOH COOH
(3) (4)
SO,CHs
OH OH
nfafed Afearse K st @ sifafen
frefafea d PR o 3dEe AT »
(1) (CH,),C= NH
N - OH

]
C=CH-C - CHj

NH,

{2) (CH_:))_ =

|
C - CH, - COCH,
HN - OH
|

(4) (CH;),~ C —CH,-COCH,

e, wmy, fme -2, 4, 6 - srFeRER

ardig =Rl § ST @

(1) ¥ae 5, 6 - fauer ssale -
I3 SFITESTA

(2) %I 5, 6 — THIY — SEARE —
3 — TTgaA! SFETETE

(3) QM 5, 6 fmar - edAfe - 1,3 -
TTHA BHATSTEA I 5, 6 — THIeT —
STRAfe -1, o—msw’r%aﬂﬁéﬂr

(4) GTSFA 3ATFRA

(3) (CHy),-

21

89.

90.

In the following reaction

CH;
@ % O Hseser g 4
OH
KMnOy B ¢
The product *C” is
CH, CH;,
$O,CHs
) |
0 OH
COOH COOH
: i 5
) ) ! >
SO,C,H;
OH OH

Mesityl oxide reacts with ammonia to

give which of the following
compounds ?
(1) (CH;),C= NH

N - OH

(2) (CH,);~C=CH-C-CH;

NH,
F
(3) (CH;),~C - CH, - COCH,
' HN— OH

|
(4) (CHs)z - C‘ "'(:1['[2(‘0(..‘!_!_}‘

The thermal cyclisation of trans, cis,
trans =2, 4. 6 — Octatriene gives

(1) only 5, 6 —trans — Dimethyl — 1.3
— cyclohexadiene

only 5, 6 — cis — Dimethyl — 1, 3 -
cyclohexadiene

both 5. 6 trans — Dimethyl — 1, 3 —
cyclohexadiene and 5. 6 — cis —
Dimethyl -1, 3 — cyclohexadiene
(4) Cyclo octane

i3



91.

92,

94.

96.

97.

1.2 - SEET gR T B ard

NMR el 1 aen 2

(1) 6 (2) 5

(3) 4 4 3
freferfaa § & @i a1 siftem /Hiem &

frem erTerges gra whaafea 72 2 2

(1) 31rd 1 |

(2) TN T HIH

(3) 7R 1

(4) aeaar &1

frfofes § & 9 @t gfg 6 fom
() .. frereid gru @ @ e R 2
(1) Efpamd (2) oTTett

(3) ferserereg
frfofaa § & e aeses 3 s53fg
(1) e

(3) foerd=
w7 Ty % 9fg s am= AHib
drgar B, fefdfea ® @ fE
TS % A 1 GIHOMH 8 2

(1) fm (2) wiReREN
(3) TMER (4) e
Trgieaehl % IR Frefefga § 9w

T IYHT Teh qth o HHICHS TehTd
o gl Yo L 8 2

frfafiaa & @ ® @1 yg/wsg figwm
srferm wfshon & hrepeR o STIIEN H
wefdta T8l ?

(1) P HITUEA STTATH

(2) THEET TR HILTH

(3) HER YEfa R

(4) HERST TSR STILEM

22

91.

94.

o
h

96.

VL.

The number of NMR signals produced
by 1, 2 — Dichloropropane are

(1) 6 () 5

(3) 4 4) 3

Which of the following is not a law of
learning proposed by Thorndike ?

(1) Law of Exercise

(2) Law of Eftect

(3) Law of Response

(4) Law of Readiness

Which of the following is not a
dimension of intellect given by J.P.
Guiltord ?

(1) Operations
(3) Content

(2) System

(4) Product
Which of the following psychologist
has given the theory of multiple
intelligence ?

(1) Cattell (2) Burt

(3) Pearson (4) Gardner
The belief that intelligence is a general
ability is the result of the work of
which of the following psychologist ?
(1) Binet (2) Spearman
(3) Gardner (4) Sternberg

According to the Vygotsky, which of
the following tools helps in cognitive
development of an individual ?

(1) Socialand Cultural tools

(2) Physical tools

(3) Emotional tools

(4) Individual tool

Which of the following is not a term
used in application of computers in
teaching-learning process ?

(1) Computer Working Learning

(2) Computer Assisted Learning

(3) Computer Managed Learning

(4) Computer Managed Instruction

15
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Which of the following is an example
of audio-visual aid ?
(1) Taperecorder
(3) Television

(2) Chart
(4) Radio

Which of the following step is not
included in system approach ?

(1) System module
(2) System analysis
(3) System design and development

(4) System operation and evaluation

Which of the following is an objective

of  using  Computer  Assisted

Instruction (CAI) in teaching learning

process ?

(1) To achieve cognitive objectives

(2) To achieve emotional objectives

(3) To achieve psychomotor
objectives

(4) To achieve affective objectives

What is the full name of CIET

(1) Central Institute of Educational
Technology

(2) Central Institute of Educational
Telecast

(3) Composite Institute
Educational Technology

(4) Common Institute of Educational
Technology

The three focal points in education are

(1) Students, Teachers and Parents

(2) Students, Teachers and Siblings

(3) Students, Teachers and
Educational Technology

(4) Students, Teachers and Subject
Matter

Linear programmed instruction is

based on the ideas of which of the

following

(1) Edward

(3) Pavlov

of

(2) Gilbert
(4) Skinner
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Which of the following is a type of
constructivism approach ?

(1) Social (2) Critical

(3) Emotional (4) Moral

. Self-assessment is based on which ot

the following principles ?
(1) Behaviourism (2) Cognitivism
(3) Constructivism (4) Pragmatism

The Report “Learning without
Burdon™ was proposed by which of
following committee

(1) Ram Murti Committee

(2) Yaspal Committee

(3) Sachar Committee

(4) Hurtong Committec

Which of the following statement is
correct about the learning, according to
the behavioural principles of learning ?
(1) Cannotbe measured and observed.
(2) Measured  through subjective
psychological methods. .
Observed and measured
objective way.

(4) Measured through

introspection method.

(3) in

an

the

Team teaching refer to a situation
where

(1) Two or more teachers teach one
student.

Two or more teachers teach a
group of students.

Two or more teachers discuss
about a topic.

Two or more teachers solve a
difficult problem.

Which of the following is not a stage
of moral development proposed by
Kohlberg ?

(1) Non-conventional

(2) Pre-conventional

(3) Post-conventional

(4) Conventional

15
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Which of the following is helpful to
improve mental health of teachers ?
(1) High moral expectations

(2) Flexibility of head ot the school
(3) Lack of professional aptitude

(4) Autocratic administration

MOOC is stand for

(1) Modern Open Online Courses
(2) Massive Open Online Courses
(3) Massive Online Open Courses
(4) Mechanical Open Online Courses

Creativity is the ability of thinking
(1) Divergently

(2) Convergently

(3) Conc. on correct answer

(4) Conc. on common solution

. Which of the following is a theory of

transfer of learning ?

(1) Identical element theory
(2) Theory of conditioning
(3) Group factor theory

(4) Multifactor theory

Which of the following is not a
defense mechanism ?

(1) Sublimation

(2) Regression

(3) Accommodation

(4) Compensation

. Zone of proximal development was a

concept introduced by whom ?
(1) Bandura (2) Vygotsky
(3) Bruner (4) Piaget

theory
of

Which of the following
emphasize to the development
co-operative learning strategies ?
(1) Cognitivism

(2) Behaviourism

(3) Structurism

(4) Constructivism
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Which of the following learning
situation is not a form of virtual
learning environment ?

(1) E-learning

(2) Retlective learning
(3) Online learning
(4) Blended learning

Which of the following is not an
example of Learning Management
System (LMS) ?

(1) Edmodo

(2) Blackboard

(3) Docebo

(4) Moodle

Which of the
model is
Suchman ?

tfollowing teaching
proposed by Richard

(1) Concept attainment model
(2) Inquiry training model

(3) Advance organiser model
(4) Social interaction model

Which of the following is a kind of
non-verbal communication ?

(1) Oral communication

(2) Written communication

(3) Communication through symbolic
code language

(4) Communication
telephone

through

Which of the following is not a non-
print media of communication ?

(1) Television
(2) Computer
(3) Video

(4) Newspaper

15
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(2) H>Li>Na>K

(3) K>Na>Li>H

(4) Na>K=>Li>H
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FHR:
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(3) O>F>N>C 4) F>N>0>C
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(1) Tc¢
(3) Pt

(2) Zn
(4) Au
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. What is the total number of orbitals

associated with the principal quantum
numbern =37
(1 3
(3) 9

(2) 6
(4) 18

.. The correct order of energy of 2s

orbitals of following is
(1) H>Na>K > Li
(2) H>Li>Na>K
(3) K>Na>Li>H
(4) Na>K=>Li>H

The correct order for first ionisation
energy among following is

() C>N>0>F (2) O>N>F=>C
3) O>F>N>C (4) F>N>0>C

. Which of the following have the most

negative electron gain enthalpy ?

(ry p (2) S
(3) €l (4) F
*No two electrons in an atom can have
the same set of four quantum

numbers™ is the statement of which of
the tollowing ?

(1) (n+§Hrule

(2) Autbau Principle

(3) Hund’s rule of maximum
multiplicity

(4) Pauli Exclusion principle

The number of angular nodes for *d’
orbitals are
(1) 0
(3) 2

(2) 1

(4) 3

Which of the following element is not
regarded as transition element ?

(I Tc (2) Zn

(3) Pt (4) Au
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(1) 4d%¥5s?

(3) 4d'0s5s"
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i AeNO, & sraafi@ AgC/ % Al H
qE
1) O
(3) 2
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(1) [Mn(CN)J*
(3) [FeF/]*

(2) [Fe(CN)
(4) [CoF "
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. Which

132.

134.

Tris (ethane — 1, 2 — diamine) cobalt (I1)
sulphate is

(1) [Co(en);]SO,

(2) [Co(en);]5(S0,),
(3) [Colen);],(SO,);
(4) [Co(en),]5,(SO,),

. Which of the following complex does

not show geometric isomerism ?
(1) [PtNH;)(Br)(CH(py)]

(2) [Pt(NH;),C/,]

(3) [Co(NH,),Cl,]"

(4) [NiCl)*

of the following complex
posses sp d? hybridisation ?

(1) [CoF ]

(2) [Co(NH)J**

(3) [Co(C,0,)4]™

(4) [Mn(CN)(]*

The ground state outer electronic

configuration of Pd is
(1) 4d¥5s* (2) 4d’ss!
(3) 4d'05s" (4) 4d105s2

. The number of moles of AgC/ precipitated

by 1 mole of [Co(NH,),C/,]C/ with
excess AgNO; is
(1y 0

(3) 2

(2) 1
4) 3

Which of the following has the highest
magnetic moment ?

(1) [Mn(CN)J>  (2) [Fe(CN)J*
(3) [FeF (4) [CoF)*

15
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Eu &1 4o 3w # @l selegitie
fomma 2

(1) 4t76s>
(3) 4t70s"

(2) 4t75d'6s?
(4) 45652

. La*, Prdt, Sm™ qur Tb3 3mEt

ek = 1 aigar gan el sy 3
(1) La*" <Pr** <Sm¥* < Th
(2) La’" <Sm* < Prit < Th¥
(3): Tb™ < Sm™* < Prit < La*
(4) Tb¥ < Prd* < Sm* < Ladt

. Teafafad & @ i € arg e 959%

forer enng o urd St R 0
(1) HshHYT &g

(2) @R4rg

(3) WS urg
(4) UfFeTias g

Ffafaa s a1 steame, Trerrar qur
fe@m 1 gt urq Y atE et ST R 2
(1) TiO (2) Cro,

(3) ReO, 4) VO,

FefeReq for ol & 0 &1 TR

(1) Nb. Os (2) Zr, Hf
(3) Pd, Pt (4) Mo. W
2N205m) S 4N02m: o 02(2}

58 iR % frw siga 37 6,79 x 10~
mol L' min~' & a9 NO, % I hi
L&

(1) 6.790 x 10 mol L' min~!
(2) 2.716 x 10~ mol L~! min™!
(3) 1.358 x 103 mol L' min~!
(4) 1.690 x 10 mol L~! min~!
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136.

140.

Outer electronic configuration of Eu in
ground state is

(1) 4t76s
(3) 4t76s"

(2) 4175d'6s?
(4) 415082

The correct increasing order of lonic
radii of La¥*, Pr**, Sm3* and Tb*" ions
1S

(1) La’* <Pri* < Sm’* < Th3*
(2) La’" <Sm’" < prit < Th3+
(3) Tb¥ < Sm¥" < Prit < a3t
(4) Tb¥* < Pr¥* < Sm™* < La3*

- Mischmetall consist of approximately

95% ot which of the following metal ?
(1) Transition metal

(2) Alkali metal

(3) Lanthanoid metal

(4) Actinoid metal

. Which of the following oxide is like

metallic copper in its conductivity and
appearance ?

(1) TiO (2) CrO,
(3) ReO, (4) VO,
. Which of the following pair of

elements does not have nearly same
size ?

(1) Nb, Os
(3) Pd, Pt

(2) Zr, Hf
(4) Mo, W

The average rate for the reaction
2N,05,,—> 4NO,, , + O

is 6.79 x 10+ mol L' min~!, then the
rate of production of NO, is

) 2g)

(1) 6.790 x 10* mol L' min™!
(2) 2.716 x 10~ mol L~! min~!
(3) 1.358 x 10 mol L~! min™!
(4) 1.690 x 10* mol L™ min™!
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. Which of

144.

146.

If the rate constant for some reaction is
k=3x107Lmol! s, then its order
is '
(1 0 ) 1

(3“2 4) 3

Which of the following is incorrect for
zero order reaction ?

(D ﬂ%[tﬂ:_k
) [R]=[R],e™
[R],
(3) ti/:=T
(4) Straight line plot is between [R]
vis t.

the following gas has
maximum physisorption on 1 g of
activated charcoal ?
(1) SO,
(3) CH,

(2) CO,
(4) H,

Hair cream is an example of which of
the following type ot colloid ?

(1) Sol (2) Gel
(3) Emulsion (4) Solid sol

. Which of the following statement is

correct for emulsion ?

(1) They cannot be diluted by

dispersion medium.

(2) They do not show Brownian

movement.

(3) into

They can be broken
constituents by centrifuging

(4) They do not show Tyndall eftect.

A solution contains three components
A. B and C, 0.2 mole each, then sum
of their mole fractions is '
() o (2) 0.6
(3) 1 4) 3

15



147. 99 6 g HIgH 30T i 200 g 9=~ o
el WY e frera <h Hieterarn =1 gl 2
(1) 0.003m (2) 0.06 m
(3) 0.5m (4) Im
148. frelt a9 X 31 I=f 1 a7 7 0.85
bar &1 0.5 ¢ TSI forega sFTEy
3" W 39 g A= (AR FoIHH
78 g mol~') B =eT TN | YT foer
I T 0.845 bar & | 3 W HITR
oM &
(1) 100 gmol™"  (2) 150 g mol™!
(3) 170 g mol™! (4) 340 g mol™!
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(1) a b c
) ¢ b a
3) b a
4) c¢ a b
150. N.'!(gl + 3H2¢g) o 2NH3[2)
AH® =924 kJ
NH, & i e forem wedt w8 2
(1) 23.1 kl/mol (2) 46.2 kJ/mol
(3) 46.2kJ/mol- (4) -92.4 k‘lfmoll
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147.

148.

149.

150.

When 6 g of ethanoic acid is.dissolved
in 200 g benzene, then what is the
molality of solution ?

(1) 0.003m (2) 0.06 m
(3) 0.5m (4)

I m

The vapour pressure of pure benzene
at certain temperature is 0.85 bar. A
non-volatile, non-electrolyte  solid
weighing 0.5 g when added to 39 g of
benzene (molar mass 78 g mol™').
Vapour pressure of solution then is
0.845 bar. The molar mass of solid
substance is

(1) 100 g mol™!
(3) 170 g mol™!

(2) ISOgmoI"
(4) 340 g mol™!

Match the List — [ with List - 11 :

List—1 List-11

I. Ideal solution a. Acetone and

ethanol

[I. Non-ideal b. Acetone and
solution chloroform
(Positive
deviation)

I1I. Non-ideal c. Benzene and
solution Toluene
(Negative
deviation)

Codes :

| I1 Il

(1) a b ¢

2) ¢ b a

3) b C a

4) ¢ a b

NEtg} ® 3H21g) 2NH3(g)

AH? =-92.4kl

What is the standard enthalpy of
formation of NH gas ?

(1) 23.1 kJ/mol (2) 46.2 klJ/mol
(3) —46.2kl/mol (4) -92.4 kJ/mol
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